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AR BESRERT 1 1.9 1.9 1.9
TTEERR 3 5.7 5.7 7.5
SRR 1 1.9 1.9 9.4
BFF 5 / B ER 10 18.9 18.9 28.3
L B 3 5.7 5.7 34.0
AR 13 24.5 24.5 58.5
B CE) 7 13.2 13.2 71.7
an bR 1 1.9 1.9 73.6
NFHER 1 1.9 1.9 75.5
BRE 13 24.5 24.5 100.0
R s3 100.0 100.0

5 WHATESEELE ?

KE Hoth | A%ESE | BEEEStE
R 2 1 1.9 1.9 1.9
i 39 73.6 73.6 75.5
BRE 13 24.5 24.5 100.0
R s3 100.0 100.0

KE otk | ARESE | BEESE

BRI 5A 1 1.9 1.9 1.9
B 52 98.1 98.1 100.0
| 53 100.0 100.0
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7. SBHEEEAPHEEH TIERARZ D ? (58
RE Btk | AX%ESH | BEEESE
BRI 3ETTLAT 1 1.9 1.9 1.9
HI3EZESE T 24 45.3 45.3 47.2
WSEE 108 T 14 26.4 26.4 73.6
#1088 208 7T 1 1.9 1.9 75.5
B 13 24.5 24.5 100.0
il 53 100.0 100.0
8. f&HRIEEIIT TR E R —HH ?
K Hootk | ARES | BEREESt
R RS EHE 3 5.7 5.7 5.7
T B ER 1 1.9 1.9 7.5
BT AL EGE 1 1.9 1.9 9.4
e B 3 5.7 5.7 15.1
B 3 5.7 5.7 20.8
RIEE ~ 10l ~ A2 ~ BE2k 23 43.4 43.4 64.2
BRI 1 1.9 1.9 66.0
BRI 3 5.7 5.7 71.7
SRR A 2 3.8 3.8 75.5
PR 13 24.5 24.5 100.0
il s3 100.0 100.0
9-1. F5 R EERAE TAERTERN Ryfa] 2
KE Hoth | A%ESE | BEEEStE
ARy BN 38 7.7 7.7 71.7
i 2 3.8 3.8 75.5
#R(E 13 24.5 24.5 100.0
R s3 100.0 100.0




9-2. BEIEE -

A M FTERA T E 2

Btk | BXRESE | BEEAESEE
ARy HRET 1. 1. 1.9
== 11. 11. 13.2
T 17. 17. 30.2
#ribm 1. 1. 32.1
&b 9. 9. 41.5
/=0 13. 13. 54.7
TR l. 1. 56.6
i 5. 5. 62.3
=L 9. 9. 71.7
BRE 3. 3. 75.5
HR(E 24.5 24.5 100.0
il 100.0 100.0

9-3. BEFEESD -

aR RS o S I > A AR 2

Btk | AREDEE | BEESEE
R P& 7.7 7.7 7.7
#R(E 24.5 24.5 96.2
China 1.9 1.9 98.1
e 1.9 1.9 100.0
il 100.0 100.0
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1 PSR 2

(=& BRG]

(Air) FRELRVEZERIZSIS - AR TAE 2

RE Hotk | ARESE | BRES
AR IEEAED 1 1.9 1.9 1.9
HEE) 35 66.0 66.0 67.9
REEB) 3 5.7 5.7 73.6
IEHIHEY 1 1.9 1.9 75.5
BrE 13 24.5 24.5 100.0
il 53 100.0 100.0
2. IWHANLIENE @ B EFEAEMERIIR?
R Btk | AX%EDEE | BEESEE
ARy RE 10 18.9 18.9 18.9
REE 30 56.6 56.6 75.5
BRE 13 24.5 24.5 100.0
il 53 100.0 100.0

3. JCHAIFT B Ay SERE T B T AE R Z R AR TR E Ryfa] 2

KE Hootk | ARESE | BEREESt
AR IEETG 4 7.5 7.5 7.5
FE 23 43.4 43.4 50.9
fef B 12 22.6 22.6 73.6
ArFE 1 1.9 1.9 75.5
PR 13 24.5 24.5 100.0
4 53 100.0 100.0
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4. T H AT LIRS Ryl 2

RE Btk | ARESE | BRES
AR IEEEE 2 3.8 3.8 3.8
R 38 7.7 7.7 75.5
98 13 24.5 24.5 100.0
4 53 100.0 100.0

5. 5%

5.1 HIEMIERETL

RN R TER TR D)

» TR R RHY ] 2

T Hott | BRESEE | BEESTE
EESUIIES 24 45.3 45.3 45.3
e 16 30.2 30.2 75.5
B 13 24.5 24.5 100.0
YAl 53 100.0 100.0
5.2 FEIL[FEIE K AT AR
T Hott | BRESEE | BEAESTE
EESUIIES 16 30.2 30.2 30.2
e 24 45.3 45.3 75.5
B 13 24.5 24.5 100.0
YAl 53 100.0 100.0
53 SREEHIEELE)
T Hott | BRESEE | BEESTE
RS UIIE S 33 62.3 62.3 62.3
e 7 13.2 13.2 75.5
B 13 24.5 24.5 100.0
YAl 53 100.0 100.0
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54 BINEFRESE

RE Btk BRESE | BEESE
B R 35 66.0 66.0 66.0
HEE 5 9.4 9.4 75.5
P& 13 24.5 24.5 100.0
US| 53 100.0 100.0
5.5 tLEEH)
RE Horkk BRESE | BEESE
B 33 62.3 62.3 62.3
e 7 13.2 13.2 75.5
P& 13 24.5 24.5 100.0
| 53 100.0 100.0
56 :EEEH
RE Horkk BRESE | BEESE
BRHY A 34 64.2 64.2 64.2
HEE 6 11.3 11.3 75.5
P& 13 24.5 24.5 100.0
| 53 100.0 100.0
5.7 SHAF ISR MG
RE Horkk BRESE | BEESE
B 40 75.5 75.5 75.5
PEE 13 24.5 24.5 100.0
4aFn 53 100.0 100.0
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5.8 T LR ~ e

RE [Epaen B ESEE | EBEESE
FEEVEN I S 37 69.8 69.8 69.8
e 3 5.7 5.7 75.5
P& 13 24.5 24.5 100.0
4EA 53 100.0 100.0
5.9 E(EIosiEERBH
RE [Epaen BRESEE | BEBEESE
FEEVEN I S 37 69.8 69.8 69.8
e 3 5.7 5.7 75.5
P& 13 24.5 24.5 100.0
4 53 100.0 100.0
5.10 HAthg/[%k
RE [Epaen B ESTEE | EBEEST
PR VGO N 38 71.7 71.7 71.7
BEFE 2 3.8 3.8 75.5
P& 13 24.5 24.5 100.0
B 53 100.0 100.0

6. MRIZERER TNV - IR EZEH 2R I5R L N IRERE ST ?

6.1 JEEFRERE T
T Hote | ARESE | BEESTTE
LGOS 28 52.8 52.8 52.8
iz 25 47.2 47.2 100.0
4l 53 100.0 100.0
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6.2 FrEEHERE
RE Btk BRESE | BEESE
By R 34 64.2 64.2 64.2
S 19 35.8 35.8 100.0
4aFn 53 100.0 100.0
6.3 APEEEIRE
RE Horkk BRESEE | BEESEE
B REE 37 69.8 69.8 69.8
e 16 30.2 30.2 100.0
4 53 100.0 100.0
6.4 ERATFRE
RE Horkk BRESE | BEESEE
PRV N 43 81.1 81.1 81.1
e 10 18.9 18.9 100.0
4EF 53 100.0 100.0
6.5 [IREMEHEET]
RE [Epaen BRESTEE | EBEESE
FEE VGO N 38 71.7 71.7 71.7
e 15 28.3 28.3 100.0
| 53 100.0 100.0
6.6 ElHTAE
RE Horkk BRESE | BEESE
PRV S 49 92.5 92.5 92.5
S 4 7.5 7.5 100.0
4aFn 53 100.0 100.0
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6.7 LIFsCH: ~ BILRU R EHAE

RE Btk BRESE | BEESE
By R 50 94.3 94.3 94.3
HEE 3 5.7 5.7 100.0
4aFn 53 100.0 100.0
8 &\ RHYERISE
RE Horkk BRESEE | BEESEE
B REE 51 96.2 96.2 96.2
e 2 3.8 3.8 100.0
4 53 100.0 100.0
6.9 YNsERET]
RE [Epaen B ESTEE | EBEEST
PR VGO N 36 67.9 67.9 67.9
e 17 32.1 32.1 100.0
| 53 100.0 100.0
6.10 HAt

KE otk | ARESE | BEESE

FEE VGO N 47 88.7 88.7 88.7
e 6 11.3 11.3 100.0
| 53 100.0 100.0

7. MRBEEER TR - TN IR e E R A ?

7.1 JEIRFEERE )

KE otk | ARESE | BEESE

FER VGO N 43 81.1 81.1 81.1
BEFE 10 18.9 18.9 100.0
| 53 100.0 100.0
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7.2 FHEEEERET]
RE Btk BRESE | BEESE
By R 30 56.6 56.6 56.6
HEE 23 43.4 43.4 100.0
4aFn 53 100.0 100.0
1.3 NIEHEhRE
RE Horkk BRESE | BEESE
PRV S 35 66.0 66.0 66.0
e 18 34.0 34.0 100.0
4aFn 53 100.0 100.0
7.4 BEXETERE
RE =5tk BRESE | BEESE
By R 39 73.6 73.6 73.6
S 14 26.4 26.4 100.0
4aFn 53 100.0 100.0
7.5 [REREFEET]
RE Horkk BRESE | BEESE
By R 41 77.4 77.4 77.4
e 12 22.6 22.6 100.0
4aFn 53 100.0 100.0
7.6 AlHEE
RE Horkk BRESE | BEESEE
FEEVEO I N 52 98.1 98.1 98.1
e 1 1.9 1.9 100.0
4 53 100.0 100.0
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7.7 LIEsCH: ~ BRI E RS

RE Btk BRESE | BEESE
By R 49 92.5 92.5 92.5
S 4 7.5 7.5 100.0
4aFn 53 100.0 100.0
7.8 EilRHZEMEE
RE Horkk BRESE | BEESE
PRV S 51 96.2 96.2 96.2
e 2 3.8 3.8 100.0
4aFn 53 100.0 100.0
7.9 JNEERET
RE =5tk BRESE | BEESE
By R 48 90.6 90.6 90.6
HEE 5 9.4 9.4 100.0
4aFn 53 100.0 100.0
7.10 HAr
RE Horkk BRESE | BEESE
By R 47 88.7 88.7 88.7
HEE 6 11.3 11.3 100.0
4aFn 53 100.0 100.0
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8. MIRMIRIEHMEBHENE: - | &) BHESRIEERZM—(ES2FT ?

RE Horth ARE e | BEESEE
BRI BEEM 4 7.5 7.5 7.5
H AR 3 5.7 5.7 13.2
SR R AR 1 1.9 1.9 15.1
THEE 2 3.8 3.8 18.9
B A AR B 3 5.7 5.7 24.5
e AR 1 1.9 1.9 26.4
A E2F 1 1.9 1.9 28.3
REEEFRK 22 41.5 41.5 69.8
ASCEF 1 1.9 1.9 71.7
SEETEEF 3 5.7 5.7 77.4
T AT R ERER 1 1.9 1.9 79.2
[SEFEFEL I 6 11.3 11.3 90.6
TR 2 3.8 3.8 94.3
A ELERR 3 5.7 5.7 100.0
4 53 100.0 100.0
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1. BERCRERGSHE

(=% HERBERIEHE]

K Btk BRESE | BEESTTE
AR FEEmE 6 11.3 11.3 11.3
TR 43 81.1 81.1 92.5
TR 4 7.5 7.5 100.0
US| 53 100.0 100.0
2. (ELIRCATEE 2 R
REY Hortk BRESE | BEESTE
BRI FEEmME 6 11.3 11.3 11.3
TR 43 81.1 81.1 92.5
N 7= 4 7.5 7.5 100.0
4afn 53 100.0 100.0
3. ELRFTEE Z A& 244k
REY Hortk BRESE | EEE ST
AR FEERME 7 13.2 13.2 13.2
TR 43 81.1 81.1 94.3
AR 3 5.7 5.7 100.0
4afn 53 100.0 100.0
4. BIRIRft 2 BEE
K& Hortk BRESE | BEESTE
BRI FEERME 4 7.5 7.5 7.5
T 46 86.8 86.8 94.3
N 7= 3 5.7 5.7 100.0
4afn 53 100.0 100.0
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LERRINBERp A B84
BEs5ERE

P PEE

TR KT TI01 FEREEE5ERY
FHAN BLFE T FHELVE
BUEH E B
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TR 4L B
3R 4L B

TR E

¥4 B30 3 0

[5—&0 BsEER]

1. SEMERISEZEIR 7

K Btk | BXRESE | BEEAESEE
ARE)  TAEh(EWEEEN) 35 85.4 85.4 85.4
FHeg 4 9.8 9.8 95.1
ARt (EE AR ) 1 2.4 2.4 97.6
2 1 2.4 2.4 100.0
il 41 100.0 100.0
2. ST TAEZ ?
K Btk | ARESE | BEEESt
BRI 2 35 85.4 85.4 85.4
P& 6 14.6 14.6 100.0
4 41 100.0 100.0
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3. AR E R 2

K Hoth | BXRESE | BEEAESEE
BRI AR 22 53.7 53.7 53.7
BT 5 12.2 12.2 65.9
B 2 4.9 4.9 70.7
BRI (28R - By 4 9.8 9.8 80.5
%)
EIfTHIZE 2 4.9 4.9 85.4
B 6 14.6 14.6 100.0
il 41 100.0 100.0
4.1 H RISV ERFTA? (5555 AR S tE DAY TR AR s B0 P )?
K Btk ARE T REE L
ARH TEE 3 7.3 7.3 7.3
SEBHE 2 4.9 4.9 12.2
E/ATEHER 1 2.4 2.4 14.6
bFFa /BRI ER R 17 41.5 41.5 56.1
NITEIR 85I 1 2.4 2.4 58.5
A LS E 1 2.4 2.4 61.0
B CGE) 10 24.4 24.4 85.4
B 6 14.6 14.6 100.0
il 41 100.0 100.0
5 WHARGEEEE ?
R Hotk | AXESE | BEFESE
"R 2 7.3 7.3 7.3
& 78.0 78.0 85.4
P& 14.6 14.6 100.0
il 100.0 100.0
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6. sEHEHAR?

T Hott | BRESEE | BEAESTE
AR 1A 2.4 2.4 2.4
4N 2.4 2.4 4.9
N 2.4 2.4 7.3
BEE 92.7 92.7 100.0
Han 100.0 100.0

7. FREEATTHIEH TEEEA RS 2 (5H)

TE Hootk | ARESE | BEREESt
AR 28TLAT 1 2.4 2.4 2.4
HB3EESETT 27 65.9 65.9 68.3
4ySEE 108 T 5 12.2 12.2 80.5
108 ZE 208 T 1 2.4 2.4 82.9
495082 1008 7T 1 2.4 2.4 85.4
PR 6 14.6 14.6 100.0
HEF0 41 100.0 100.0
8. HAIEENTTRERIZ BN —FH ?
KE Hootk | ARESE | BEREESt
AR 28TLAT 1 2.4 2.4 2.4
HB3EESETT 27 65.9 65.9 68.3
4SEE 108 T 5 12.2 12.2 80.5
108 ZE 208 T 1 2.4 2.4 82.9
4950821008 7T 1 2.4 2.4 85.4
PR 6 14.6 14.6 100.0
HEF0 41 100.0 100.0
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0-1. SHMEHRAE TR AN B 2

Btk | BXRESE | BEEAESEE
BRI EXN 85.4 85.4 85.4
ERE 14.6 14.6 100.0
il 100.0 100.0
9-2. BHERN - FHHEPFTEMRTTE ?
Hotk | AX%EDH | BREESE
BRH) &G 22.0 22.0 22.0
T 17.1 17.1 39.0
R ERA 2.4 2.4 41.5
H % 2.4 2.4 43.9
it 17.1 17.1 61.0
&t 9.8 9.8 70.7
/=0 7.3 7.3 78.0
W 4.9 4.9 82.9
=Lt 2.4 2.4 85.4
#HRE 14.6 14.6 100.0
il 100.0 100.0

9-3. EEFEESN

AR RS S A btk - B4 HABRET 2

Hott | AXES | BEESE
AR BE 85.4 85.4 85.4
HIRE 14.6 14.6 100.0

4 100.0 100.0
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1 PSR 2

(=& BRG]

(Air) FRELRVEZERIZSIS - AR TAE 2

K BHooth | BXRESE | BEAESEE
AR AR 29 70.7 70.7 70.7
HER 5 12.2 12.2 82.9
IFEREEY 1 2.4 2.4 85.4
PR 6 14.6 14.6 100.0
i 41 100.0 100.0
2. WHAINLENS » BEHREEFEREIR?
KE Hoth | A%ESE | BEEStE
AR TE 4 9.8 9.8 9.8
FHEE 31 75.6 75.6 85.4
B 6 14.6 14.6 100.0
R 41 100.0 100.0

3. S H AR B VS SERE T S LA F R EORAYRH TR E Ry {2

KE Hoth | A%ESE | BEEEStE
AR NE 26 63.4 63.4 63.4
) 8 19.5 19.5 82.9
REFE 1 2.4 2.4 85.4
BRE 6 14.6 14.6 100.0
il 41 100.0 100.0
4. 3 H A TR AG RS & Ryfa] 2
K Hoth | AX%ESH | BEEESE
AR JEERE 3 7.3 7.3 7.3
WE 32 78.0 78.0 85.4
P& 6 14.6 14.6 100.0
il 41 100.0 100.0
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5. M RN IR TIFARTER

5.1 HIEMIEETL

y YR

JONEEY

Fole KHY Fofel 2

K& Hortk BRESE | BRSO
FEE GO S 23 56.1 56.1 56.1
e 12 29.3 29.3 85.4
BEE 6 14.6 14.6 100.0
| 41 100.0 100.0
5.2 EIL[EIEE R R AR
REY Hortk BRESEE | BRSO
By A 14 34.1 34.1 34.1
e 21 51.2 51.2 85.4
BEE 6 14.6 14.6 100.0
| 41 100.0 100.0
5.3 SRR ERIEIEEE)
RE Horkk BRESE | BEESE
BRHY A 27 65.9 65.9 65.9
S 8 19.5 19.5 85.4
P& 6 14.6 14.6 100.0
| 4] 100.0 100.0
5.4 MANEREH
RE H5rEE BRESE | BEESE
BRI R 28 68.3 68.3 68.3
BERE 7 17.1 17.1 85.4
P& 6 14.6 14.6 100.0
S| 41 100.0 100.0
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5.5 tEEE)

K& Hortk BRESE | BRSO
BEy A 26 63.4 63.4 63.4
e 9 22.0 22.0 85.4
BEE 6 14.6 14.6 100.0
| 41 100.0 100.0
5.6 s 2Y
REY Hortk BRESEE | BRSO
By A 32 78.0 78.0 78.0
jEises 3 7.3 7.3 85.4
BEE 6 14.6 14.6 100.0
| 41 100.0 100.0
5.7 SRS E)
RE Horkk BRESE | BEESE
By R 35 85.4 85.4 85.4
P& 6 14.6 14.6 100.0
4aFn 41 100.0 100.0
5.8 T LR ~ li%EH
REY Hortk BRESE | BRSO
By A 35 85.4 85.4 85.4
BEE 6 14.6 14.6 100.0
4aF 41 100.0 100.0
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5.9 FE(LWIFEEEE BN

K& Hortk BRESE | BRSO
BEy A 32 78.0 78.0 78.0
e 3 7.3 7.3 85.4
BEE 6 14.6 14.6 100.0
| 41 100.0 100.0
5.10 HArFI %k
REY Hortk BRESEE | BRSO
By A 35 85.4 85.4 85.4
P& 6 14.6 14.6 100.0
4aF 41 100.0 100.0
6. fRIZMEER TR ER » B RIEZEE

6.1 JEAEREERETT

RE Btk | ARESEE | BEESTE
LGOS 32 78.0 78.0 78.0
i 9 22.0 22.0 100.0
4l 41 100.0 100.0
6.2 FHEEEERET]
RE Btk | ARESEE | BEESTE
LGOS 26 63.4 63.4 63.4
i 15 36.6 36.6 100.0
4l 41 100.0 100.0
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6.3 ARG E)5E

K& Hortk BRESE | BRSO
BEy A 30 73.2 73.2 73.2
e 11 26.8 26.8 100.0
4aF 41 100.0 100.0
6.4 BEXETERE
REY Hortk BRESEE | BRSO
By A 28 68.3 68.3 68.3
e 13 31.7 31.7 100.0
4aF 41 100.0 100.0
6.5 [HREMEFEE
RE Hortk BRESE | BRSO
By AR 25 61.0 61.0 61.0
e 16 39.0 39.0 100.0
P 41 100.0 100.0
6.6 ElHrsE
RE Bk BRESE | BEESE
By A 36 87.8 87.8 87.8
BERE 5 12.2 12.2 100.0
| 41 100.0 100.0
6.7 TIE4CE ~ (LRI E AR
RE Bk BRESE | BEESE
By A 34 82.9 82.9 82.9
BERE 7 17.1 17.1 100.0
| 41 100.0 100.0
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6.8 &R ERIRE

RE Hoyte | ARESEE | BEESE

BEy A 38 92.7 92.7 92.7
e 3 7.3 7.3 100.0
4aF 41 100.0 100.0

6.9 YNEEREST

KE HotE | ARESEE | ERESTT
ARH) R 39 95.1 95.1 95.1
B 2 4.9 4.9 100.0
“af 41 100.0 100.0
6.10 At

RE Hovte | ARESEE | BEESE

By AR 38 92.7 92.7 92.7
e 3 7.3 7.3 100.0
P 41 100.0 100.0

7. MRBERE R RIS - EE R R ge R R A B 7

7.1 TEIEFEERET]

RE Hoyte | ARESEE | BEESE

BRI REE 34 82.9 82.9 82.9
HEE 7 17.1 17.1 100.0
EES| 41 100.0 100.0

7.2 FHEEERET

RE Btk | ARESE | BEASLE

HRHY R 27 65.9 65.9 65.9
B 14 34.1 34.1 100.0
HErn 41 100.0 100.0
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7.3 NEREE)5E

Hortk BRESE | BRSO
BEy A 65.9 65.9 65.9
e 34.1 34.1 100.0
4aF 100.0 100.0
7.4 HR AR
Horkk BRESE | BEESE
PRV S 68.3 68.3 68.3
HEE 31.7 31.7 100.0
4aFn 100.0 100.0
7.5 [REREFEET]
Hortk BRESE | BRSO
By A 65.9 65.9 65.9
e 34.1 34.1 100.0
4aF 100.0 100.0
7.6 AlHEE
Hortk ARESEE | BRSO
By AR 92.7 92.7 92.7
e 7.3 7.3 100.0
4B 100.0 100.0
1.7 TE&CE ~ EERU T RIE AR
Horkk BRESE | BEESEE
FEEVEO I N 85.4 85.4 85.4
e 14.6 14.6 100.0
4 100.0 100.0
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7.8 FEREHLIEAE

K& Hortk BRESE | BRSO
BEy A 38 92.7 92.7 92.7
e 3 7.3 7.3 100.0
4aF 41 100.0 100.0
7.9 JNEERET
REY Hortk BRESEE | BRSO
By A 39 95.1 95.1 95.1
e 2 4.9 4.9 100.0
4aF 41 100.0 100.0
7.10 EHith
REY Hortk BRESE | BRSO
By A 39 95.1 95.1 95.1
e 2 4.9 4.9 100.0
4aF 41 100.0 100.0

8. MIRMAIRIEHMEBHENE: - | &) BHESRIEEZM—(EE2FT ?

T Btk | ARESE | EEESt

BRHH  HEEM 1 2.4 2.4 2.4
B R 4T EER 1 2.4 2.4 4.9
Bt AR 22 2 4.9 4.9 9.8
R EEETRK 30 73.2 73.2 82.9
e R B ERERRT 5 12.2 12.2 95.1
TEERER 2 4.9 4.9 100.0
R 41 100.0 100.0
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(=% HERBERIEHE]

1. BERCRERGSHE

18-1. B e HE

RE Hortk BRESE | BEESE
BRI IEERE 5 12.2 12.2 12.2
TR 36 87.8 87.8 100.0
4N 41 100.0 100.0
2. {ELIREATER 2 B EERE
RE Hortk BRESE | BEESE
By IEEIWE 6 14.6 14.6 14.6
= 34 82.9 82.9 97.6
THE 1 2.4 2.4 100.0
4N 41 100.0 100.0
3. TELIRFTEE 2 A& 2k
RE Hortk BRESE | BEESE
By IEEIWE 5 12.2 12.2 12.2
= 34 82.9 82.9 95.1
THE 2 4.9 4.9 100.0
4 41 100.0 100.0
4. BIRIRt 2 BEE R
RE Hortk BRESE | BEESE
By IEEIWE 6 14.6 14.6 14.6
= 34 82.9 82.9 97.6
THE 1 2.4 2.4 100.0
4N 41 100.0 100.0
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BEs5ERE
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¥4 B30 3 0

¥k & 25 i
FFE 125
wEéRE D 0K

1. ERREHYRLSEIRM 2

[5—&0 BsEER]

SHFFETRRLF S )

T Hott | BRESEE | BEAESTE
B TAEP(BBEEN) 19 76.0 76.0 76.0
e 3 12.0 12.0 88.0
A 1 4.0 4.0 92.0
GE 2 8.0 8.0 100.0
4l 25 100.0 100.0
2. FHHEHITIEZ?
RE Hoth | ARESEE | BEEEE
ESCONES 17 68.0 68.0 68.0
e 2 8.0 8.0 76.0
B 6 24.0 24.0 100.0
YAl 25 100.0 100.0
3. MR EZ ?
K Bttt | ARESEE | BEESTE
B AR 10 40.0 40.0 40.0
BURFE 3 12.0 12.0 52.0
2 4 16.0 16.0 68.0
IR Tt (288t - g 2 8.0 8.0 76.0
)
Bl 6 24.0 24.0 100.0
4l 25 100.0 100.0
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4S5 H AR HIERFTA10? (

a2 S A T A (DY A E AR s ERFT)?

RE Horth BRESE | BEES
AR BEHISRER 1 4.0 4.0 4.0
TTEER 3 12.0 12.0 16.0
HEHH 4 16.0 16.0 32.0
1 /A THHERR 2 8.0 8.0 40.0
s/ BrSE AT 5 20.0 20.0 60.0
A /B ER P 1 4.0 4.0 64.0
ARER 2 8.0 8.0 72.0
ERE 1 4.0 4.0 76.0
B 6 24.0 24.0 100.0
4 25 100.0 100.0
5 WHAZRGEEEE ?
R Hotk | AXESE | BEFESE
BRE 2 1 4.0 4.0 4.0
& 18 72.0 72.0 76.0
B 6 24.0 24.0 100.0
il 25 100.0 100.0
6. FHEET AR ?
R Hott | AXES | BEESE
BRI 120 1 4.0 4.0 4.0
PR 24 96.0 96.0 100.0
4 25 100.0 100.0
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7. SRS ERTFEA TIERRA RS ? (%)
e Hoth | AX%ESH | BEEESE
BRI 28T 2 8.0 8.0 8.0
Y3 EESE T 12 48.0 48.0 56.0
YSEE 108 T 5 20.0 20.0 76.0
PR 6 24.0 24.0 100.0
il 25 100.0 100.0
8. HAIEENTTRERIZBN—ME ?
KE Btk | ARESE | EEEST
AR BUFARLEBE 1 4.0 4.0 4.0
B8 BLIsR 2 8.0 8.0 12.0
(B A Rt R 1 4.0 4.0 16.0
IR BRI 1 4.0 4.0 20.0
B 1 4.0 4.0 24.0
FLEE ~ Fflg ~ T2 - B0 7 28.0 28.0 52.0
RAREN ~ BanBlEEE 1 4.0 4.0 56.0
B REOR 4 16.0 16.0 72.0
[ GtRE 1 4.0 4.0 76.0
PR 6 24.0 24.0 100.0
4 25 100.0 100.0
9-1. HE R EHRAE TAERTAER Ry fal 2
R Hott | AXES | BEESE
BRI EXN 18 72.0 72.0 72.0
B4 1 4.0 4.0 76.0
#HRE 6 24.0 24.0 100.0
4 25 100.0 100.0




9-2. BEIEE -

A M FTERA T E 2

Hoth | AX%ESH | BEEESE
Er 8.0 8.0 8.0
Sl 20.0 20.0 28.0
#ribm 4.0 4.0 32.0
&t 28.0 28.0 60.0
B 8.0 8.0 68.0
G 4.0 4.0 72.0
PR 4.0 4.0 76.0
IR E 24.0 24.0 100.0
4 100.0 100.0

9-3. BEFEEESD -

ap R RS o S I > A AR 2

Hootk | AXESH | BEEESE
P& 72.0 72.0 72.0
BRE 24.0 24.0 96.0
HA 4.0 4.0 100.0
4 100.0 100.0
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1 PSR 2

(Air) FRELRVEZERIZSIS - AR TAE 2

(=& BRG]

K Btk | BXRESE | BEEAESEE
AR IREARE 6 24.0 24.0 24.0
HEB) 1 44.0 44.0 68.0
HER 2 8.0 8.0 76.0
PR 6 24.0 24.0 100.0
i 25 100.0 100.0
2. WHAINLENS » BEHREEFEREIR?
S Btk | ARESE | BEEEST
AR R 3 12.0 12.0 12.0
FRE 16 64.0 64.0 76.0
P& 6 24.0 24.0 100.0
i 25 100.0 100.0

3. S H AR B VS SERE T S LA F R EORAYRH TR E Ry {2

KE otk | ARESE | BEASE
R EERTE 1 4.0 4.0 4.0
e 12 48.0 48.0 52.0
L) 5 20.0 20.0 72.0
e 1 4.0 4.0 76.0
B 6 24.0 24.0 100.0
YA 25 100.0 100.0
4. G HAT TR E S ] 2
KE Hote | ARESE | BEESL
ARH  JEERE 4 16.0 16.0 16.0
S 15 60.0 60.0 76.0
B 6 24.0 24.0 100.0
4 25 100.0 100.0
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5. BRI TIFARTERD - fEE Rl R Rofel 2

5.1 HIEMIEETL

RE Btk | ARESEE | BEESTE
R AR 6 24.0 24.0 24.0
B 13 52.0 52.0 76.0
B 6 24.0 24.0 100.0
HErn 25 100.0 100.0

5.2 FIL[FE R ERT MK

RE Btk | ARESEE | BEESTE
R AR 8 32.0 32.0 32.0
B 11 44.0 44.0 76.0
Bk 6 24.0 24.0 100.0
HErn 25 100.0 100.0

5.3 PIEEB/EE/LE

RE Btk | ARESEE | BEESTE
R AR 14 56.0 56.0 56.0
B 5 20.0 20.0 76.0
Bk 6 24.0 24.0 100.0
HErn 25 100.0 100.0

54 BSNEFRESE

e Hotk | AXESE | BEFESE
By A 18 72.0 72.0 72.0
EE 1 4.0 4.0 76.0
B 6 24.0 24.0 100.0
4 25 100.0 100.0
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5.5 tEEE)

ARy R

RE Btk | ARESEE | BEESTE
15 60.0 60.0 60.0
4 16.0 16.0 76.0
6 24.0 24.0 100.0
25 100.0 100.0

56 EE:@»S‘IQ

ARy R

RE Btk | ARESEE | BEESTE
15 60.0 60.0 60.0
4 16.0 16.0 76.0
6 24.0 24.0 100.0
25 100.0 100.0

RE Hote | ARESEE | BEESE

ARy R
P&

4EF

19 76.0 76.0 76.0
6 24.0 24.0 100.0
25 100.0 100.0

5.8 T LR ~ ke

ARy R

RE Btk | ARESEE | BEESTE
18 72.0 72.0 72.0
1 4.0 4.0 76.0
6 24.0 24.0 100.0
25 100.0 100.0
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5.9 FE(LWIFEEEE BN

RE Btk | ARESEE | BEESTE
AR AR 11 44.0 44.0 44.0
BEE 8 32.0 32.0 76.0
B 6 24.0 24.0 100.0
HErn 25 100.0 100.0
5.10 ELAHII%E
RE Btk | ARESEE | BEESTE
AR AR 16 64.0 64.0 64.0
B 3 12.0 12.0 76.0
B 6 24.0 24.0 100.0
i 25 100.0 100.0

6. IRIBCEER TN » BRI EE BRI NHEERE ST ?

6.1 JEAEREERETT

T Hott | BRESEE | BEAESTE
LGOS 13 52.0 52.0 52.0
e 12 48.0 48.0 100.0
Yl 25 100.0 100.0
6.2 FHEEEERET]
RE Btk | ARESEE | BEESTE
LGOS 20 80.0 80.0 80.0
1% 5 20.0 20.0 100.0
4l 25 100.0 100.0
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6.3 ARG E)5E

RE Btk | ARESEE | BEESTE
LGOS 20 80.0 80.0 80.0
1% 5 20.0 20.0 100.0
4l 25 100.0 100.0
6.4 EXEFERE
RE Hootk | ARESE | BEESTE
LSS 20 80.0 80.0 80.0
2 5 20.0 20.0 100.0
YAl 25 100.0 100.0
6.5 [REMERAEE
RE Hott | ARESEE | BEEESTE
LGOS 12 48.0 48.0 48.0
s 13 52.0 52.0 100.0
YAl 25 100.0 100.0
6.6 All¥rAE
RE Btk | ARESEE | BEESTE
LGOS 20 80.0 80.0 80.0
1% 5 20.0 20.0 100.0
4l 25 100.0 100.0
6.7 TIE&CE: ~ BERHEEHAE
RE Hootk | ARESEE | BEESTE
LSS 17 68.0 68.0 68.0
e 8 32.0 32.0 100.0
YAl 25 100.0 100.0
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8 HENFHERIAE

RE Hoyte | ARESEE | BEESE

R AR 22 88.0 88.0 88.0
BEE 3 12.0 12.0 100.0
vl 25 100.0 100.0

6.9 YNEEREST

RE Hootk | ARESE | BEESTE
LSS 13 52.0 52.0 52.0
2 12 48.0 48.0 100.0
YAl 25 100.0 100.0
6.10 LA

RE Btk | ARESE | BEASLE

HHHY R 23 92.0 92.0 92.0
B 2 8.0 8.0 100.0
HErn 25 100.0 100.0

7. MRBEEER TR - TN LR v E R A ?

7.1 EEBFIERET]

RE Hoth | ARESEE | BEEEE
EF oS 10 40.0 40.0 40.0
i 15 60.0 60.0 100.0
YAl 25 100.0 100.0
7.2 FHEEEERET

RE Hoyte | ARESEE | BEAESE

R AR 16 64.0 64.0 64.0
BEE 9 36.0 36.0 100.0
vl 25 100.0 100.0
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7.3 NEREE)5E

K& Hortk BRESE | BRSO
BEy A 20 80.0 80.0 80.0
e 5 20.0 20.0 100.0
4aF 25 100.0 100.0
7.4 ExRE1ERE
RE Hortk BRESE | BRSO
By AR 18 72.0 72.0 72.0
e 7 28.0 28.0 100.0
EES| 25 100.0 100.0
7.5 [REREFEE ST
RE Hortk BRESE | BRSO
BRI REE 14 56.0 56.0 56.0
e 11 44 .0 44 .0 100.0
P 25 100.0 100.0
7.6 ElHrEE
RE Bk BRESE | BEESE
By A 24 96.0 96.0 96.0
BERE 1 4.0 4.0 100.0
| 25 100.0 100.0
7.7 TE&CE ~ EERU AT RIE AR
REY Hortk BRESEE | BRSO
By A 23 92.0 92.0 92.0
e 2 8.0 8.0 100.0
4aF 25 100.0 100.0
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7.8 HEFHSEARE

RE Hoyte | ARESEE | BEESE

R AR 24 96.0 96.0 96.0
B 1 4.0 4.0 100.0
vl 25 100.0 100.0

7.9 JNEERES]

RE Hootk | ARESE | BEESTE
ARH)  RE 22 88.0 88.0 88.0
HEE 3 12.0 12.0 100.0
HEFn 25 100.0 100.0
7.10 HAt

RE Hovte | ARESEE | BEESE

BRI REE 21 84.0 84.0 84.0
e 4 16.0 16.0 100.0
P 25 100.0 100.0

8. WIREHAEFEBHKEHESL > | &, THESEREEHEW—EE2T ?

RE Horth AREDLE | BBt

R BHEEM 1 4.0 4.0 4.0
H AR HERERRY 1 4.0 4.0 8.0
PR R AR 2 8.0 8.0 16.0
R 5 20.0 20.0 36.0
BB 2 8.0 8.0 44.0
BEEm R 4 16.0 16.0 60.0
Bl ERFT 1 4.0 4.0 64.0
GEEEEREK 2 8.0 8.0 72.0
& AT Ry RHERER 1 4.0 4.0 76.0
PSR S B R AR 4 16.0 16.0 92.0
A FHERERR 2 8.0 8.0 100.0
4 25 100.0 100.0
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1. SR Re s HE

(=% HERBERIEHE]

K Bl | BREstt | BEESL
B IR 6 24.0 24.0 24.0
M 18 72.0 72.0 9.0
Tt 1 4.0 4.0 100.0
YAl 25 100.0 100.0
2. TR Z BEERRIE
K Btk | BREstE | EEES
B IR 5 20.0 20.0 20.0
M 19 76.0 76.0 9.0
Tt 1 4.0 4.0 100.0
G 25 100.0 100.0
3. FERMFTEE Z BE 2 Fk
K Btk | BREstt | EEES
B IR 4 16.0 16.0 16.0
T 21 84.0 84.0 100.0
YAl 25 100.0 100.0
4. BIRGRHEZ BEER
R Bt | BREStE | BEES
ARH  JEEWE 5 20.0 20.0 20.0
S 17 68.0 68.0 88.0
i 3 12.0 12.0 100.0
YAl 25 100.0 100.0
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PHRERY L F AL

, W «.‘
2FXABIAEH B N
v E D12 &
FoREE 120
wEéRE D 0K
Yl A Daly NI JA
[F—H7 BMEBEF]
1. SFEEEHYEZEAR 2
RE Hortk BRWESE | BEESTTE
AR TEP(EREEN) 11 91.7 91.7 91.7
F-E2 1 8.3 8.3 100.0
4T 12 100.0 100.0
2. SR TAEZ ?
RE Hortk ARWTESEE | BEESEE
B =R 11 91.7 91.7 91.7
P& 1 8.3 8.3 100.0
BT 12 100.0 100.0
3. M ERAIEEE E ?
RE Bk ARESEE | BEESEE
B RAMLE 10 83.3 83.3 83.3
BEf 1 8.3 8.3 91.7
P& 1 8.3 8.3 100.0
4 12 100.0 100.0
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4. SEHAIAREHYE TR ?

RE Horkk BRESE | BEESE
AR BEIEEE 1 8.3 8.3 8.3
=3 CE) Y 1 8.3 8.3 16.7
ARSI 1 8.3 8.3 25.0
WrEE / BEEEER P 7 58.3 58.3 83.3
EETERR 1 8.3 8.3 91.7
P& 1 8.3 8.3 100.0
QA 12 100.0 100.0
5 IMHATEREETIE ?
RE Bk ARESEE | BEESEE
Y & 1 8.3 8.3 8.3
= 10 83.3 83.3 91.7
P& 1 8.3 8.3 100.0
4 12 100.0 100.0
6. sAfMEHE A% ?
RE Bk ARESEE | BEESEE
B 4N 1 8.3 8.3 8.3
BkaE 11 91.7 91.7 100.0
4aEst 12 100.0 100.0
7. SEMCH AT H TEEW A BZ /D2 (81)
RE Btk BRWESEE | BREESTE
B APBEESEIT 5 41.7 41.7 41.7
5B E10E T 6 50.0 50.0 91.7
5] =3 1 8.3 8.3 100.0
qEst 12 100.0 100.0
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8. HAIEERITTIRE B —8 ?

9-3. BEFEEUSD -

A R B R R &I > Il HAR R ?

Hoth ARHESEE | BEES
a0 Bs 91.7 91.7 91.7
99 8.3 8.3 100.0

4 100.0 100.0

84

RE Horth ARHVEDEE | BEESLE
B B 2 16.7 16.7 16.7
RIEE ~ 590l7 ~ T2 ~ B 7 58.3 58.3 75.0
BRI 2 16.7 16.7 91.7
BrE 1 8.3 8.3 100.0
st 12 100.0 100.0
9-1. G5 EERAE LA ER Ryfal 2
R Bkl ARHESEE | BREES
a8 ERN 11 91.7 91.7 91.7
99 1 8.3 8.3 100.0
st 12 100.0 100.0
9-2. EEEEFN - FBEFTERTE ?
Btk ARESLE | REESTE
A8 GEh 16.7 16.7 16.7
T 33.3 33.3 50.0
% 16.7 16.7 66.7
#rabri 8.3 8.3 75.0
&ditm 8.3 8.3 83.3
=Lt 8.3 8.3 91.7
99 8.3 8.3 100.0
4t 100.0 100.0



(58 BIEHE]
L SPESEIREE R OF) SRAEVESRIREI G - AR IRAE LA ?

R Haorkh ARWEDLL | BEEDE
AR IFEEED 2 16.7 16.7 16.7
HEB 9 75.0 75.0 91.7
BEE 1 8.3 8.3 100.0
st 12 100.0 100.0
2. IWHAINLENS - BEFEEFHERIIR?
Horth ARHTEDE | BEEDLE
Y BE 8.3 8.3 8.3
FEE 83.3 83.3 91.7
e 8.3 8.3 100.0
4t 100.0 100.0

3. S H AR B VS SERE T S LA F R EORAYRH TR E Ry {2

Horth BROVESEE | BEESEE
Y IREEE 2 16.7 16.7 16.7
E 5 41.7 41.7 58.3
fef 7 4 33.3 33.3 91.7
PR 1 8.3 8.3 100.0

Hast 12 100.0 100.0

4. ¥ H AT TR ERS IR S R fmT 2

R Hoth BRHVESEE | BEESE
AR IREWE 2 16.7 16.7 16.7
R 8 66.7 66.7 83.3
BN =0 1 8.3 8.3 91.7
B 1 8.3 8.3 100.0

s 12 100.0 100.0
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5. 5%

RN R TER TR D)

5.1 HIEMIEETL

y YR

JONEEY

Fole KHY Fofel 2

1
RE Horkk BRNESEE | BREESTE
B ki 4 33.3 33.3 33.3
e 7 58.3 58.3 91.7
P& 1 8.3 8.3 100.0
4EET 12 100.0 100.0
5.2 EIL[EIEE R AR
RE Hortk BRESE | BEESTE
B R 7 58.3 58.3 58.3
S 4 33.3 33.3 91.7
P& 1 8.3 8.3 100.0
4 12 100.0 100.0
5.3 SRR ERIEIEEE)
RE Hortk BRESE | BEESTE
B R 10 83.3 83.3 83.3
HEE 1 8.3 8.3 91.7
i3] 28 1 8.3 8.3 100.0
4aEst 12 100.0 100.0
5.4 ANEREH
RE Hortk BRESE | BEESTTE
B R 10 83.3 83.3 83.3
HEE 1 8.3 8.3 91.7
P& 1 8.3 8.3 100.0
4 12 100.0 100.0
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5.5 tEEE)

RE Hortk BRWESE | BEESTE
B R 9 75. 75.0 75.0
HEE 2 16. 16.7 91.7
P& 1 8. 8.3 100.0
4 12 100. 100.0
5.6 s 2Y
RE Hortk BRESE | BEESTTE
B R 10 83. 83.3 83.3
HEE 1 8. 8.3 91.7
P& 1 8. 8.3 100.0
4 12 100. 100.0
5.7 SRS E)
RE Hortk BRESE | BEESTTE
B R 10 83. 83.3 83.3
HEE 1 8. 8.3 91.7
i3] 28 1 8. 8.3 100.0
4ast 12 100. 100.0
5.8 L LR ~ lREeEH
RE Hortk BRESE | BEESTTE
B R 10 83. 83.3 83.3
HEE 1 8. 8.3 91.7
P& 1 8. 8.3 100.0
4 12 100. 100.0




5.9 FE(LWIFEEEE BN

K Horkh ARWEDLL | BEESEE
B ORE 6 50.0 50.0 50.0
B 5 41.7 41.7 91.7
PR 1 8.3 8.3 100.0
4 12 100.0 100.0
5.10 HAHNk
KE Btk AREDEE | BREESEE
a8 RE 11 91.7 91.7 91.7
PR 1 8.3 8.3 100.0
st 12 100.0 100.0

6. MR HEERIIRAEAVE SR - MR L R IGR L N REERE ST ?

6.1 JEHFLIERET]

K [EFaew ARyETtE | BEESTE
=S 7 58.3 58.3 58.3
ez 5 41.7 41.7 100.0
4 12 100.0 100.0
6.2 FHEEEERET]
T Btk ARG | BEAESTE
S 9 75.0 75.0 75.0
e 3 25.0 25.0 100.0
4 12 100.0 100.0




6.3 ARG E)5E

RE Hortk BRWESE | BEESTE
B R 9 75.0 75.0 75.0
S 3 25.0 25.0 100.0
4T 12 100.0 100.0
6.4 ERATFRE
KE Hortk ARWTESEE | BEESEE
B R 9 75.0 75.0 75.0
e 3 25.0 25.0 100.0
4 12 100.0 100.0
6.5 [IREMEHEET]
RE Bk ARESEE | BEESEE
AR OREE 4 33.3 33.3 33.3
e 8 66.7 66.7 100.0
4 12 100.0 100.0
6.6 ElHTAE
RE Hortk BRWESE | BEESTTE
B R 11 91.7 91.7 91.7
e 1 8.3 8.3 100.0
4T 12 100.0 100.0
6.7 LIE4CE ~ E(ERUHFRIEHAE
KE Hortk ARWTESEE | BEESEE
B R 8 66.7 66.7 66.7
e 4 33.3 33.3 100.0
4 12 100.0 100.0




8 HENFHERIAE

RE Hortk BRWESE | BEESTE
B R 12 100.0 100.0 100.0
6.9 YNEERETT
RE Hortk BRESE | BEESTTE
B R 8 66.7 66.7 66.7
S 4 33.3 33.3 100.0
4T 12 100.0 100.0
6.10 HA
KE Hortk ARWTESEE | BEESEE
B R 11 91.7 91.7 91.7
e 1 8.3 8.3 100.0
4 12 100.0 100.0
MR

7. IRIREE

SERFPRACHAEER -

EEE Ry B TR RE DA B RS H B 7

7.1 TEIEFEERET]
RE H5rkh ARWTESEE | BEESEE
B R 8 66.7 66.7 66.7
e 4 33.3 33.3 100.0
4 12 100.0 100.0
7.2 FREEERETT
RE H5rEE ARG SEE | BREESEE
AR OREE 6 50.0 50.0 50.0
e 6 50.0 50.0 100.0
4 12 100.0 100.0




7.3 NEREE)5E

RE Hortk BRWESE | BEESTE
B R 11 91.7 91.7 91.7
S 1 8.3 8.3 100.0
4T 12 100.0 100.0
7.4 ExRE1ERE
KE Hortk ARWTESEE | BEESEE
B R 9 75.0 75.0 75.0
e 3 25.0 25.0 100.0
4 12 100.0 100.0
7.5 FOREREREET]
RE Bk ARESEE | BEESEE
B R 5 41.7 41.7 41.7
BEFE 7 58.3 58.3 100.0
4 12 100.0 100.0
7.6 ElHTAE
RE Hortk BRWESE | BEESTTE
B R 10 83.3 83.3 83.3
HEE 2 16.7 16.7 100.0
4T 12 100.0 100.0
1.7 TE&CE ~ EERU TR E AR
KE Hortk ARWTESEE | BEESEE
B R 9 75.0 75.0 75.0
e 3 25.0 25.0 100.0
4 12 100.0 100.0




7.8 HEFHSEARE

KE Btk | BREVESLE | BEEESLT

AR A 12 100.0 100.0 100.0

7.9 SNEERETT

KE Hoyte | AREVESEE | BEESET
B A 11 91.7 91.7 91.7
B 1 8.3 8.3 100.0
“ast 12 100.0 100.0
7.10 HAt

RE Hotk | AREVESTE | EEESLT

B R 9 75.0 75.0 75.0
e 3 25.0 25.0 100.0
4 12 100.0 100.0

8. MIRAIREAMEBHENE - &, BHESRIEEEM—(EE2FT ?

RE Horth BRESEE | BEESE
BR BRI 2 16.7 16.7 16.7
THEE 1 8.3 8.3 25.0
ERB 2 1 8.3 8.3 33.3
R REEER 1 8.3 8.3 41.7
R HEETRR 3 25.0 25.0 66.7
ASCEF 1 8.3 8.3 75.0
P S EERERF 2 16.7 16.7 91.7
AR 1 8.3 8.3 100.0

GasT 12 100.0 100.0
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1. RS EHE

(=% HERBERIEHE]

RE Hortk BRWESEE | BEESTTE
AR IEEmE 2 16.7 16.7 16.7
TR 10 83.3 83.3 100.0
4T 12 100.0 100.0
2. (ELHRATEE 2 B EEERAE
RE Hortk AR ESE | BEESTTE
AR IEEmE 3 25.0 25.0 25.0
TR 7 58.3 58.3 83.3
N =y 2 16.7 16.7 100.0
4 12 100.0 100.0
3. [ELRCFTEE Z A& 2k
RE Bk ARESEE | BEESEE
B IEEWE 3 25.0 25.0 25.0
TR 9 75.0 75.0 100.0
4ast 12 100.0 100.0
4. BRI 2 HEE R
RE Bk ARESEE | BEESEE
B IEEWE 3 25.0 25.0 25.0
TR 9 75.0 75.0 100.0
4 12 100.0 100.0
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FRERY 8 AL aBbsr

vk E 2 >
FREE 2%
[ZE—ET FEEF]

BB E 0

1. 5 SRR 2
x| EAE | BRESE | BREST
AR TAEF(EREEEN) 2 100.0 100.0 100.0
2. SR TIER ?
x| EAE | BRESKE | BRESET
AR B 2 100.0 100.0 100.0
3. RMERAIRIMEZ ©
x| EAL | ARESL | BRES
AR AL 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
A 2 100.0 100.0
4. EERIARBHVERFTR " EER SR A e (DY AR S ERFT L ?
x| EAL | BRWESE | EREST
AR BENEE 1 50.0 50.0 50.0
bt/ BASEERRT 1 50.0 50.0 100.0
HEE 2 100.0 100.0
5. HAERIETEE?
x| EAE | BRESE | BREST
AR i 2 100.0 100.0 100.0
95




6. AMIETE AR ?
B [Epaem ARHIEIEE | BREEE
B Bk 100.0 100.0 100.0
7. RGBT TREEABS L ? (G1)
T [ERsyew ARHIEIEE | BERASTE
AR HBEZRSET 1 50.0 50.0 50.0
KISEZR10ETT 1 50.0 50.0 100.0
Haat 2 100.0 100.0
8. {1 E LA THE AR R e 7
RE Btk | BREVESEE | BEEAESTE
B Eie=ErnilFosl 1 50.0 50.0 50.0
SN 1 50.0 50.0 100.0
HEET 2 100.0 100.0
0-1. FHREEHLE TRFEH A 17 2
T [ERsyew ARG | BEESTE
B B 100.0 100.0 100.0
0-2. BEFEEVY - FMFTERAIR ?
K Hote | AREVESEE | BEESTE
R =z 1 50.0 50.0 50.0
=4l 1 50.0 50.0 100.0
Hast 2 100.0 100.0
9-3. BEBHISN - FEHIEF RGBS, - HIA: AV 2
KE [EFaew ARyEStE | BEESTE
R Bk 100.0 100.0 100.0
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2. SREFEEREA (F) SRAVEEREZI S AR L ?

x| EAE | BRESE | BREST
a8 AR 2 100.0 100.0 100.0
2. WHAINTAENE @ BT R A AR ?
x| EAL | BRWESE | EREST
AR B 2 100.0 100.0 100.0

3. S H AR B VS SERE T S LA F R EORAY TR E Ry {2

¢ Tt | B EStE | ERESH
PER =y 100.0 100.0 100.0
4, ¥ H Al TAEERe = S Bl 2
¢ Tt | B EStE | ERESH
PER T 2 100.0 100.0 100.0
5. BRELHKEENIRETIEARTER) » a8 B AR Byfr] ?
5.1 HFEMIFREHT
¢ Tt | B EStE | ERESH
PER EigEs 2 100.0 100.0 100.0
5.2 FEIL[EEE K E A AR
¢ Tt | B EStE | ERESH
PER FoiE 2 100.0 100.0 100.0
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5.3 iRIEEHIEEET)
¥ H4rth BRWE S | BEEEo
R A 2 100.0 100.0 100.0
54 IAINEREE
RE H4rth B E S | BEEEo
Y A 2 100.0 100.0 100.0
5.5 tLEEH)
RE H4rth B E S | BEEEo
Y A 2 100.0 100.0 100.0
56 :EEEEHE
TE Btk BRWNESLE | BFEE G
a0 R 2 100.0 100.0 100.0
5.7 ZHARERT i EE)
TE Btk BN ESLE | BREEST
¥ R 2 100.0 100.0 100.0
8 L LA - iRses
TE Btk BRWNESLE | BREEST
a0 R 2 100.0 100.0 100.0
5.9 {E(ThH5TsiZ BN
TE Btk BRWNESE | BREE ST
R R 2 100.0 100.0 100.0
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5.10 HAthgll ok

[Epaem

AR E TR

X =P

AR

RiE

100.0

100.0

100.0

6. MRIBEEERTIFAENEE  EREEZE

6.1 JEHFIERET]

ARG N REERE ST ?

Hat | AREESL | BEES
EEEs R 100.0 100.0 100.0
6.2 FHEERE
Hat | AREES | BEES
EEES R 100.0 100.0 100.0
6.3 AFEEE)RE
HAt | AREESL | BEES
EEEs R 50.0 50.0 50.0
B 50.0 50.0 100.0
Hast 100.0 100.0
6.4 EB=IERE
ot | ARWESL | BMESE
AR R 50.0 50.0 50.0
B 50.0 50.0 100.0
HEE 100.0 100.0
6.5 [l
ot | AsWESL | RHEESE
AR R 50.0 50.0 50.0
B 50.0 50.0 100.0
A 100.0 100.0
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6.6 AlHrAE

S mate | AxevEstt | gmEstt
PSR i 2 100.0 100.0 100.0
6.7 TAE4E ~ TR IS E AR
S mate | AxevEstt | gmEsott
PSR FiEE 1 50.0 50.0 50.0
s 1 50.0 50.0 100.0
Yz 2 100.0 100.0
6.8 &R ERIEE
EC Eate | AxmvEstt | gmEsott
FELS ik 2 100.0 100.0 100.0
6.9 YNEERE ST
EC Eate | AxmvEstt | 2mEatt
FEES ik 2 100.0 100.0 100.0
6.10 Hfh
EC Eate | AxmvEstt | gmEatt
FEES ik 2 100.0 100.0 100.0
7. MR GEERFIRENSES - 58

7.1 JEEBRIERET]

Ry R E R B R A R ?

JONEIDN A

RE [Epaem ARHIEIEE | BREEE
AR EN:: 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
4 2 100.0 100.0
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7.2 FHESE

okt | ARwESL | BMESE
AR R 50.0 50.0 50.0

B 50.0 50.0 100.0
HEE 100.0 100.0

7.3 NPRE#HE

ot | AswESL | RHEESE
AR R 100.0 100.0 100.0
74 EEREERE

ot | AswESL | RHEESE
AR R 100.0 100.0 100.0
7.5 [HlEM

ot | AswESL | RHEESE
AR R 100.0 100.0 100.0
7.6 AIIHTHE

okt | ARwESL | BMESE
AR R 100.0 100.0 100.0
7.7 TfE&CE: ~ BRI EE AL

ot | ARwESL | BMESE
AR R 100.0 100.0 100.0
7.8 FARHEHIAE

ot | ARwESL | BMESE
AR R 100.0 100.0 100.0
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7.9 YNERET)

e

RE BHote | AREVESEE | BEESTE
AR EN:: 2 100.0 100.0 100.0

7.10 EHAh

RE BHote | AREVESEE | BEESTE
AR EN:: 2 100.0 100.0 100.0

8. MIRAIREAMEBHENES - | &, BHESEIEEREM—(EE2FT ?

RE Btk | ARETESLE | BEESE
B BT K 2 100.0 100.0 100.0

102
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2 BT

18-1. B e HE
RE Horth BRWIE S | EEESE

AR IEE R 1 50.0 50.0 50.0
R 1 50.0 50.0 100.0
HEE 2 100.0 100.0

RE Btk | BREVESLE | EEESLT

AR IEE R 1 50.0 50.0 50.0
R 1 50.0 50.0 100.0
HEE 2 100.0 100.0

RE Btk | BREVESLE | EEESLT

AR IEE R 1 50.0 50.0 50.0
R 1 50.0 50.0 100.0
A 2 100.0 100.0

RE BHote | AREVESEE | BEESTE
AR R 2 100.0 100.0 100.0
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1. ERREHYRLSEIRM 2

¥4 B30 3 0

[5—&0 BsEER]

x| EAE | BRESE | BREST
AR TAEF(EREEEN) 2 100.0 100.0 100.0
2. SR TIER ?
x| EAE | BRESKE | BRESET
AR B 2 100.0 100.0 100.0
3. RMERAIRIMEZ ©
x| EAL | ARESL | BRES
AR AL 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
A 2 100.0 100.0
4. SEHARBHIEF TR 2
x| EO | ARESt | BREST
R WS/ FARER 2 100.0 100.0 100.0
5 [EHATEREEEE?
x| EAL | BRWESL | BRESLT
AR En 2 100.0 100.0 100.0
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6. sEHEHAR?

[Epaem

AR E TR

X =P

AR

B

100.0

100.0

100.0

7. sEMEHATPEEH LERIARZ D ? (8%)

x| EL | ARES | BRESL
EEES YPBEESETT 1 50.0 50.0 50.0
108 2208 7T 1 50.0 50.0 100.0
Hat 2 100.0 100.0
8. [ H AR TSR 2 A
x| Bt | BRWESE | BEESL
AR ORI R - TR - RO 1 50.0 50.0 50.0
BRI 1 50.0 50.0 100.0
Hest 2 100.0 100.0
9-1. A M AASRAE TIERTIERN Ryfef 2
x| Es | BRESE | BHESL
AR BTN 100.0 100.0 100.0
9-2. BEFFEN > SRHIFTERATE ?
x| Bt | BRESE | BRESL
AR T 50.0 50.0 50.0
&t 50.0 50.0 100.0
Hast 100.0 100.0
9-3. BEFFEYSL > SRR BRI o Flan: HAHET ?
x| Ew | BRESE | BMESE
EEEs B 100.0 100.0 100.0
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3. BHHIREREE R (F) FROLHVECEEERIEFISR - AR IRAE T ?
1

S [ERa v ARHIEIEE | BRESEE

B JERAEE 1 50.0 50.0 50.0
HE 1 50.0 50.0 100.0
Yt 2 100.0 100.0

2. IWHAMYILIEAR - O TEEMHEENE 7
Bt ARHIEDL | BEEStE

B RE 50.0 50.0 50.0
FEZ 1 50.0 50.0 100.0
st 100.0 100.0

3. JCHAIFT B VB SERE T B T AE R Z R AR TR E Ry (] 2

5.1 HIEMIERL

Bt | AREVESE | BRESL
s QN 100.0 100.0 100.0
4. EHHAT TIF BRI WEE Ry ?
Bt | AREVESLE | BRESL
EEEs IR 50.0 50.0 50.0
I 50.0 50.0 100.0
A 100.0 100.0
5. SR EER N AE TAFARTEE - TSR AN Ryl ©

Horth

HRHIE T

X =P

AR

B

100.0

100.0

100.0
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5.2 FIL[FE R ERT MK

BRIE S | BRE ST
PSR i 50.0 50.0
s 50.0 100.0
Yz 100.0
5.3 SEEHIE(EEE)
HRIESE | EMESHT
PSR ik 100.0 100.0
54 INEREH
HRIESE | EMESHT
PSR ik 100.0 100.0
5.5 tHEES)
HRIESE | EMESHT
PSR ik 100.0 100.0
56 sEEEH
HRIESE | ERMESH®
S S 50.0 50.0
BEFE 50.0 100.0
4= 100.0
5.7 ZHARET i EE)
HRIESE | ERE St
PER FoiE 100.0 100.0
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5.8 T LR ~ e

x| EAE | BRESE | BREST
AR R 100.0 100.0 100.0
5.9 FE(LWIFEEEE BN
x| EAE | BRESE | BREST
AR R 50.0 50.0 50.0
B 50.0 50.0 100.0
HEE 100.0 100.0
5.10 HALHIIH
x| EAE | BRESKE | BRESET
AR R 100.0 100.0 100.0
6. MR REERFITAEAIEER - B e

6.1 JEHFLIERET]

ARG N REERE ST ?

x| EAL | BRESE | BREESL
a8 RE 100.0 100.0 100.0
6.2 FHESERES

x| EAL | BRESE | BREESL
AR RE 100.0 100.0 100.0
6.3 AFEEE)RE

x| EAL | BRESE | BREESL
a8 RE 100.0 100.0 100.0
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6.4 HRGIERE

x| EotE | ARWESL | BMESE
AR R 50.0 50.0 50.0
B 50.0 50.0 100.0
HEE 100.0 100.0
6.5 MHIEMIAEST
x| EoE | ARWESL | BMESE
AR R 100.0 100.0 100.0
6.6 AIHTAE
x| EAE | ARWESL | BMESE
AR R 50.0 50.0 50.0
B 50.0 50.0 100.0
Hat 100.0 100.0
6.7 TfE&CH: ~ BRI EEHAE
x| EoE | ARWESL | BMESE
AR R 50.0 50.0 50.0
B 50.0 50.0 100.0
Hat 100.0 100.0
6.8 FAFHLEHAE
x| EAL | ARESE | BEESL
EEEs R 50.0 50.0 50.0
B 50.0 50.0 100.0
A 100.0 100.0
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6.9 SMaEAETT

x| EotE | ARWESL | BMESE
AR R 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
HEE 2 100.0 100.0
6.10 At
x| EoE | ARWESL | BMESE
AR B 2 100.0 100.0 100.0
7. IR BRI SR - 1EEE

7.1 JEEBRERET]

Ry R E TR B A R ?

JONEIDN A

x| EotE | ARWESL | BMEST
AR R 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
A 2 100.0 100.0
7.2 FHASERET]
x| EAE | ARWESL | BHESE
AR R 2 100.0 100.0 100.0
7.3 NPRE#HE
x| EoE | ARWESL | BMESE
AR R 2 100.0 100.0 100.0
74 EREERE
x| EoE | ARWESL | BMESE
AR R 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
A 2 100.0 100.0
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7.5 [EARARES]
x| EotE | ARWESL | BMESE
AR R 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
HEE 2 100.0 100.0
7.6 Al¥TRE
x| EoE | ARWESL | BMESE
AR R 2 100.0 100.0 100.0
7.7 TE&CE: ~ BRI EE AL
x| EAE | ARWESL | BMESE
AR R 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
Hat 2 100.0 100.0
7.8 FAEHLEHIAE
x| EAL | BRESE | BREESL
EEEs R 2 100.0 100.0 100.0
7.9 ShEERET]
x| EAL | BRESE | BREESL
EEES R 1 50.0 50.0 50.0
B 1 50.0 50.0 100.0
Hast 2 100.0 100.0
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7.10 Efth

RE BHote | AREVESEE | BEESTE
AR EN:: 50.0 50.0 50.0
BEE 50.0 50.0 100.0
4 100.0 100.0

8. WIREHAEFEBHKEHEL > | &, THESEREEHEW—(EE2T ?

RE Hote | AREVESEE | BEESTE
AR BERAETEN 1 50.0 50.0 50.0
P S E R ERF 1 50.0 50.0 100.0
HEET 2 100.0 100.0
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3. BHEAERTE

RE Btk | BREVESLE | EEESLT

AR IEE R 1 50.0 50.0 50.0
R 1 50.0 50.0 100.0
HEE 2 100.0 100.0

RE Btk | BREVESLE | EEESLT

AR IEE R 1 50.0 50.0 50.0
R 1 50.0 50.0 100.0
HEE 2 100.0 100.0

RE Btk | BREVESLE | EEESLT

AR IEE R 1 50.0 50.0 50.0
R 1 50.0 50.0 100.0
A 2 100.0 100.0

RE BHote | AREVESEE | BEESTE
AR R 2 100.0 100.0 100.0
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EA3REE 0K
[F—&7 BEFHE]
1. FBRIEELEEARN 2

x| EotE | ARWESL | BMESE
AR TAEF (BWEEHEN) 5 100.0 100.0 100.0
2. SEEEH TR 2
x| EotE | ARWESL | BMEST
AR B 5 100.0 100.0 100.0
3. FAMITIAIR IR IR ?
x| Bt | BRwEsL | BRESL
AR AL 5 100.0 100.0 100.0
EH AR HIESFTA] 2
xE | EAL | ARESL | BEEST
AR SnbRERT 1 20.0 20.0 20.0
i A 1 20.0 20.0 40.0
SRR 1 20.0 20.0 60.0
Sioe- -k =il ! 1 20.0 20.0 80.0
TAZERF 1 20.0 20.0 100.0
vl 5 100.0 100.0
5 [EHATEREEEE?
x| EoE | ARWESL | BHESE
AR & 5 100.0 100.0 100.0
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6. sEHEHAR?

[Epaem

AR E TR

X =P

AR

B

100.0

100.0

100.0

7. RGBT TREEABS L ? (G1)

x| Bt | BRWESE | BRESL
AR 4BEESETT 4 80.0 80.0 80.0
K)5EE108TT 1 20.0 20.0 100.0
Hest 5 100.0 100.0
8. [ H AR TSR A I8 7
x| Bt | ARESHE | BRES
EEEs BUEH 1 20.0 20.0 20.0
FHEE ~ £y ~ TR ~ B 2 40.0 40.0 60.0
BRI 2 40.0 40.0 100.0
Hest 5 100.0 100.0
9-1. A M AASRAE TIERTIERN Ryfef 2
x| Es | BRESE | BHESL
AR BTN 100.0 100.0 100.0
9-2. BEFFEN > SRHIFTERATE ?
x| B | BRESE | BRESL
AR T 2 40.0 40.0 40.0
&t 2 40.0 40.0 80.0
=L 1 20.0 20.0 100.0
Haat 5 100.0 100.0
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9-3. BEFEEL -

AR RS S R btk - B4 HABRET 2

[Epaem

AR E TR

X =P

AR

B

100.0

100.0

100.0
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4. PIEEIEREEE 2 (Fr) feftayVHESRAEIGR > AEIRIRAET(E ?

(=& BRG]

S [ERa v ARHIEIEE | BRESEE
g IEEAED 1 20.0 20.0 20.0
HE 3 60.0 60.0 80.0
EESEE 1 20.0 20.0 100.0
4zt 5 100.0 100.0
2. IWHAMILIEANR » EOFEEMEFENR?
K8 [Epa)=v ARHIEIEE | BRESEE
B HBE 1 20.0 20.0 20.0
FHE 4 80.0 80.0 100.0
4zt 5 100.0 100.0

3. H AR E RS SEAE T B LA E R BRI E Ry {2

R [Epa)=v ARHIEIEE | BRASEE
7w 2 40.0 40.0 40.0
T 2 40.0 40.0 80.0
FrFE 1 20.0 20.0 100.0
4t 5 100.0 100.0
4. fEH HAT TR im e S ] 2
R Horte ARHIEIEE | BRASEE
B W 3 60.0 60.0 60.0
T 2 40.0 40.0 100.0
Yt 5 100.0 100.0
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5. BRI TIFARTERD - fEE Rl R Rofel 2

5.1 HIEMIEETL

=% Eott | ErE st | ERES®
PSR i 20.0 20.0 20.0
s 80.0 80.0 100.0
Yz 100.0 100.0
5.2 FIT[EEE R AT AR
Eatt | ERE s | ERES®
PSR ik 40.0 40.0 40.0
BEFE 60.0 60.0 100.0
4=t 100.0 100.0
5.3 SRIEEEHIEE /&)
Btk | BumEst | 2mEatt
PER FoiE 80.0 80.0 80.0
HERE 20.0 20.0 100.0
4z 100.0 100.0
54 IHNEREY
Eott | ErE st | ERES®
PSR FiEE 100.0 100.0 100.0
5.5 tE &S
Eott | ErE st | ERES®
PSR FiEE 80.0 80.0 80.0
s 20.0 20.0 100.0
Yz 100.0 100.0
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56 sEEEH
x| EotE | ARWESL | BMESE
AR R 80.0 80.0 80.0
B 20.0 20.0 100.0
HEE 100.0 100.0
5.7 SHBIRSTRUEEN
x| EoE | ARWESL | BMESE
AR R 100.0 100.0 100.0
5.8 T ILMFS ~ fRiBEEE
x| EAE | ARWESL | BMESE
AR R 100.0 100.0 100.0
5.9 E(LWIFEEEE BN
x| EAE | ARWESL | BMESE
AR R 80.0 80.0 80.0
B 20.0 20.0 100.0
A 100.0 100.0
5.10 HAha/llR
x| EAE | ARWESL | BHESE
AR R 60.0 60.0 60.0
B 40.0 40.0 100.0
A 100.0 100.0
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6.1 JEiEFREERET]

2R NNGR L N REERE ST ?

S mate | AxevEstt | gmEstt
PSR JEiSEs 100.0 100.0 100.0
6.2 FHEEERET]
S mate | AxevEstt | gmEsott
PSR FiEE 40.0 40.0 40.0
s 60.0 60.0 100.0
Yz 100.0 100.0
6.3 APEEEIEE
EC Eate | AxmvEstt | 2mEatt
FEES ik 80.0 80.0 80.0
BEFE 20.0 20.0 100.0
4= 100.0 100.0
6.4 BEXE1ERE
Ky Btk | BumEst | 2mEatt
PER FoiE 100.0 100.0 100.0
6.5 RIREMRAEE T
Ky Btk | BumEst | 2mEatt
PER FoiE 20.0 20.0 20.0
HERE 80.0 80.0 100.0
4=t 100.0 100.0
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6.6 AlHrAE

S mate | AxevEstt | gmEstt
PSR i 4 80.0 80.0 80.0
s 1 20.0 20.0 100.0
Yz 5 100.0 100.0
6.7 TAE4 3 ~ TR IS E AR
S mate | AxevEstt | gmEsatt
PSR FiEE 4 80.0 80.0 80.0
s 1 20.0 20.0 100.0
Yz 5 100.0 100.0
6.8 &R ERIEE
EC Eate | AxmvEstt | 2mEatt
FEES ik 5 100.0 100.0 100.0
6.9 YNEEREST
EC Eate | AxmvEstt | 2mEatt
FEES ik 5 100.0 100.0 100.0
6.10 Hfh
EC Eate | AxmvEstt | 2mEatt
FELS ik 5 100.0 100.0 100.0
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7.1 JEEBRERET]

S Hortk BRNESE | BEEESIE
B AR 60.0 60.0 60.0
e 40.0 40.0 100.0
45 100.0 100.0
7.2 FHEEERES
"otk ARESEE | BEESL
B ik 80.0 80.0 80.0
e 20.0 20.0 100.0
4T 100.0 100.0
7.3 NEEEE
Horth BRNESEE | BREESEE
B R 80.0 80.0 80.0
R 20.0 20.0 100.0
4 100.0 100.0
7.4 BB
Hortk BRNESE | BEEESE
B AR 80.0 80.0 80.0
e 20.0 20.0 100.0
45 100.0 100.0
7.5 MR
"otk ARESEE | BEESL
B ik 60.0 60.0 60.0
e 40.0 40.0 100.0
4 100.0 100.0
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RE BHote | AREVESEE | BEESTE
AR EN:: 5 100.0 100.0 100.0

7.7 LIEsCH: ~ BRI E RS

x| EAE | BRESE | BREST
AR R 4 80.0 80.0 80.0
B 1 20.0 20.0 100.0
HEE 5 100.0 100.0
8 HAlRHIEAAE
x| EAL | BRWESL | BRESLT
AR R 3 60.0 60.0 60.0
B 2 40.0 40.0 100.0
A 5 100.0 100.0
7.9 ShEERET]

RE Btk | ARETESLE | BEEESE
B Ak 5 100.0 100.0 100.0
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RE Btk | ARETESLE | BEEESE
B Ak 5 100.0 100.0 100.0
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RE Btk | ARETESLE | BEEESE
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BRI (RaB R 1 20.0 20.0 40.0
P R E R ERF 3 60.0 60.0 100.0
HEET 5 100.0 100.0
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RE BHote | AREVESEE | BEESTE
AR R 5 100.0 100.0 100.0

2. ERHRATEE 2 HEEERAE

RE Hootk | ARETESLE | BEEESE
B R 5 100.0 100.0 100.0
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AR IEE R 1 20.0 20.0 20.0
R 4 80.0 80.0 100.0
HEET 5 100.0 100.0
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R 1 20.0 20.0 100.0
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1. SFEEEHYEZEAR 2
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REL Hatk | AxEath | EEESEE
BRI 2R 1 100.0 100.0 100.0
3. ARSI E E ©
RE Hoath | AsEatt | EEEatE
BRI R 1 100.0 100.0 100.0
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R Ttk | ARESE | BREESEE
BXH) AR 1 100.0 100.0 100.0
5. IHATEGIEETEE ?
R Ttk | ARESE | BREESEE
BRH & 1 100.0 100.0 100.0
6. SAfMEHE A% ?
R Ttk | ARESE | BREESEE
By BEE 1 100.0 100.0 100.0
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